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Rearrange to make r the subject.
600=2r(3 + 1)
300=r(3 + )

300

Exd

18 a p(A) + pi

Frstattempt  Second attempt
2 e
5
3
3 pass
> 3
5 NFa
T

b plpass course) = p(pass 1st time) + p(pass 2nd time)
Plpass 2nd e}« ol sttest ancl pass 2 tost

19 Solve by substitution.
y=x-1 m
204y @
subs 1] into [2]
@125+ -1 =2
20 4x?-2x+1=2
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Quadratic factorisation.

ar2-20-1=0

@+ e -1
1

Lort binto [1
Jert  subintor]

x=

v

21 @r- 1+ N +2) -+ D+ e +3)=0
G+ e+ 22x 1) - w+3] =0
G+ Mo+ 2x - =0
x=-1,-20r4
Be careful not to divide by (x + 1)(x + 2 first as solutions
can be lost!
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22 area of triangle = ; x base x perpendicular height
Let height be y. Consider equilateral triangle of side 4.
A=pxanxy=2ny
Pythagoras' theorem

(@n =y + 2np
1612 = 2+ dn2
12n2 =y
12=/4x3=2/3

203n=y
A=2nx2/3n=4/3n2
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1 [[180 units at £0.0825 perunit___| £14.85
440 units at £0.0705 per unit___| £31.02
Total amount £a5.87
Tax at 15% of the total amount | £6.88
‘Amount to pay £52.75

620 - 180 = 440 units

15% of 245.87 = 0.15 x £45.87 = £6.88

2 (triangle ABD is isosceles)
180-38_ .

ZABD

2

(comesponding angle to ZABD)
p=71°

(angle sum of a straight line
ZBDE =180 - 71 = 109°

80°)

3 Sweets are the same in number.
Al Nikos
x+6=4x-6
12=3¢

Sa
S S4=156 x4 = 6320m

6324y
156 ==~ "7, where y is Sienna's height in cm.

156 % 5= 632 + , y = 148cm




image2.png
a tin:lead = 1:2
240g + sum of parts =1 part
240 =3 parts, 1 part = 80
tin:lead = 80g: 160G

b tin:lead = 75:m
m=75x2=150g
mass of solder = 75 + 150 = 2259

48=2¢x3

First find prime factors of both numbers.
180=22x 3 x5

a Product of common factors of both numbers.
HCF=22x3=12

b LOM=2%x x5=720

a Round one number up and one down as this is a
product.

g=10,h=08
b Square both sides.
290
Divide both sides by 2.
v =2gh
”

9=
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8 a Kitchen chairs
PUQ=(1,234567.89

Yes, an integer cannot be both odd and even.
# means that the set is empty.

9 a Letangle POR =0

<ing o OPPSite side
hypotenuse

sin(9) = 7, 0= 38.2009.
76

Use the inverse sin ‘button’ used to find angle.
6=38.2°(1 dp)
adjacent side
= Typotenuse
QR,., = 7.65 x c0s(38.2009...)

b i coso

Upper bound of 7.6 = 7.65
=6.01em (3sf)
QRy, = 7.55 x C0S(38.2009...)

Lower bound of 7.6
.930m (35.£)

.55

10 a 60x1.20=72s

12 2 .
b cost persec =12 , cost per min =12 x 60 = 10 ¢/min
cost per sec = 72 , cost per 15 <60=10c

© old rate: 12c/min; new rate: 10c/min

h

change

percentage change = 2 x

2

% decrease = 2

- 162
*100= 1629%
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11 22%=8x-7
Rearrange in form ax? + bx = c.
2x% -8x=-7
Divide both sides by 2.
7
2
Complete the square.
7

-28

X odr=-

‘Take square oot of both sides.
i

x-2=5/3
z=2:s L=
V2
12 a Ratios of lengths are 8:12 = 2:
P ot PP
b y15=2:3 L -2 3xy=15x2,y= Ly=10

B3
© Length are in ratio x:,
Ratios of areas are 4:9
Letarea of Qbe A
: 80 _4
80:4=4:9, 0=,
180cm?

areas are in ratio 2142,

80x9=4x4,
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13 Intersecting chords theorem.
AX xXB = CX x DX
28x16=12xDX

DX=37333...cm
Pythagoras’ theorem
AD2= AX: + DX

8 +(3.7333...

AD = 4670m @35.1)

Let angle DAX - 0
opposite side

1= adjacent side
ox

tan:

AX
0=53.1"3sf

1421 ox-toB-i3)

AX =40 +OX
4)_f5)

X = X0 +0C = () - if)

b IfAX=XC,5k~1=4-5k k=1

© Xis halfway along OB as k = }.
XC = LK mples AX = XC and vectors re parl 50
AAC st o it 8 s ko

15 a Multiplying a quantity by 1.03 increases it by 3%...
Investment value = $1200 x (1.03)" = $1391.13

b Letoriginal cost be Sy
yx(0.70)=$08
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Mutpiying S iy Ly,0.10 decremams Ly, 0%;
98 _ 14

=22 -840

Avea of rectangle = base x width

=08 - 21)= 287 - 227

Graph of y against x will be an inverted parabola which

d
s a i it s

Substitute ¥ into width = 28 - 2x
8-2x7=14
Yra= 7 x 142987

area of circle = 7r?

210, 122 1980me
Area 360 x122=138cm?(3sf)

c2re 1 omazri 2o 2o
Total perimeter = 2r + 120 x 27 = 2r 4 27 = 53 4 1)

110,
Tag) x2xmx12

=47.0(3s4)
circumference of circle = 211

20-2ra0

Perimeter =2 x 12+ (110]





